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1) ASEAN is headquartered at

vl
2
3
4

Jakarta

Male
Katmandu
Kuala Lumpur

N— N N N

M : ASEAN I3 9] T Association of Southeast Asian Nations. W0 b @sFs
YA ST ARSRO 2 | 73R o) QR Sofb v 03 SRR ST | CPIeeTt ZeTg e,
ABATG, FRpfetoM2d, e, T, Fai3, Rarodrd, S1ss, fFRaaR Q3 ICIGT |

2) Which of the following is not term of information technology?

1) Modem

2) Cyber space
v 3) Light storage
)

4) Upload

AT : OO PG TRP FTRCAT N TG PR NowiB5 | TR T T (@Il GO
SHIBAR CoICH ARG FAT IR | WAIMP 125 COIES, AR (PICET BT GW2RGS IRT0
oI

3) Which of the following organization is concerned with environmental
issues?

MM : IPCC O 'Intergovernmental Panel on Climate Change' SIfos@d @3in
AR SRBT1 Yabb AT UNEP Q3 WMO 51d 30 2T IPCC 51'3\‘) 1 5Yd A OIC 1
BSATRY SCRE 27T Af5RO 2| S S g AP T s1Ed MIGA 2o =)

4) "PARPIE \3 2PY” RPACK (T WLCT WD 2 ?



3) Widorg
v 4) TG

AT 1 K T APTP RTFR DA SR <7 (TR 2, X SPATLXP I T 9 | oY 519
IR XTH | 513 Gl) XTHOGP ReG I | {FAR BT \3 97T Aofo0g I = fFIR 17 3 259
RE0G ACETDHS 2T |

5) Which of the following is word processing software?

1
2
3
v 4

Word Perfect
Word Pad
MS Word

All of these

S— N N N

A : - WordPerfect is a word processing system that was originally produced
by Satellite Software International Inc. - WordPad is a basic word processor
available in every version of Microsoft's operating systems since Windows 95.
- Microsoft Word is a word processor developed by Microsoft.

6) Given that 24 carat gold is pure gold, 18 carat gold is 3/4th of pure gold
and 20 carat gold is 5/6th of pure gold, the ratio of the pure gold in 18 carat
gold to the pure gold in 20 carat gold is

AT : 18 PIRD AR AL AR AR = (24 x 3)/4 FIRD = 18 D
20 IIRT AR AT AR AT = (24 x 5)/6 FNRE = 20 IIAL
R TGO =18 .20 ~=9 : 10

7) Number of temporary members of the UN Security Council is

1)5
2) 15

v 3) 10
4) None

AT : SUFGHRY : & TIGREAI BR 7750 ¢fo 60| orrexe faroraT iRemRs B/ 757 | o
SIGHRCTR ART21GT RS- @6 15 51 d¢ D1 » 03 Jee TP F1Y 5751 Q3R doft T
TN o B 5T fb 6P T . TiE, R, B9, THATST 3 BTS¢ TEIE SHOAT R IR
Oy [T 2| » fARToraT “fRE0E BRI SWHeR (SC0T Faol IANE | TSR farTeraT #fem



QP ABR AR T 93 ¢ T ook TR ACTSd 3 | » SIToSLcdd fA-oraT kg o
SN TR IR {'IR fAADE 2, AR TP PRGSO I dDdn-dobo AN Q3L
TORKIK 3000-3005 SIS |

8) On reducing the entry fee by 35% in park, the number people coming to
the park increased by 40% then the percentage increase or decrease in the
income of the of the entry fee is ?

v 1) 9% decrease
2) 9% increase.
3) 5% decrease
4) 7% decrease

AT 2 Xx+y+(xy)/100 = - 35+40+ (-35%40)/100 = 5-14 = -9%
So, decrease = 9%

9) A boat takes 4 hours to cover a certain distance running downstream,
while running upstream it requires 8 hours 48 minutes to cover the same
distance. Find the ratio between the speed of the current and the speed of
the boat?

1) 1:2
v 2)3:8
3) 2:3
4) 4:3

T : 4fd

Y x .5,

(PR @A + AT @AV = XD (1)
(PR @91 - (FICO] @51 = x/{8(48/60)}

= x/(44/5)

2(TPR @) = (x/4) + (5x/44)
= (11x + 5x)/44

= 16x/44

= 4x/11

(@R @5) = 2x/11

2(@TCR @) = (x/4) - (5x/44)
= (11x - 5x)/44

=6x/44

= 3x/22



(@S @51) =3x/44
@O QST . (PR Q@51 =3x/44 : 2x/11 =3:8

10) A number when divided by 3 leaves a remainder 1. When the quotient is
divided by 2, it leaves a remainder 1. What will be the remainder when the
number is divided by 67

1)2

|\
e
U W

T : fq

CISTPE = X

HRAM =3X + 1 v, (1)

JARXx =29+ 1

(1) = Y0 =3(2q + 1) + 1
=6q+3+1

=69+ 4

SRV 6 AR SIS FACET OO 4 YR |

11) All of the following are examples of real security and privacy risks
EXCEPT:

1) Viruses
v 2) Spam

3) Hackers

4) None

AT : FEROOIR PSR X0 (T YRR TRID® TodT, G, IRPCHIS, BT (ST97d, LT
3on (AP TR AP | AT GIRFICR TR WK iR 1 QP18 2\3T- SR AP AL
JIPRAT O {fR FACO A | Spam 62 TATH 3 - G |

12) Which country bans on the oldest and most polluting diesel cars to
protect climate?

1
v 2
3
4

France
Germany
China
None

)
)
)
)



YT : #2050 S IGHNR BTG 0T SIATACS 2R 78T ARSI [0 \3 AR RPN
G p1feTo ST fafea P12 |« \ITE THR PRI 2000 A BRI X @D 90 1Y Td
THA I8 AT

13) What is the shortcut key to open the Open dialog box?

1) F12

2) Alt + F12

3) Shift + F12
v 4) Ctrl + F12

AT : F12 - Ms word 4 save 300 190 R | ctrl + F12 : dialog box open <9
IO 2 | A8d IO Short - cut key:

F1 for help

F2 for Rename

F3 for Search

F4 for looking the active list

F5 for Refresh

14) Two trains P and Q are moving in opposite direction at a rate of 36km/hr
and 45km/hr respectively. A passenger is sitting in train P, finds that his train
passes train Q in 8 seconds. What is the length of train Q?

I : As the trains travel in opposite direction then Relative speed = (45 +
36)km/hr.

= 81 km/hr.

= (81 x 1000)/3600

= 45/2

The length of train Q = (45/2) x 8 = 180 m

15) Rahim invested in all Tk. 2,600 in three different schemes at 8%, 4% and
6% per annum simple interest. At the end of the year, he received the same
interest in all the three schemes. What is the money invested in scheme
having 4% rate of interest?

1) Tk. 700
2) Tk. 800



3) Tk. 750
v 4) Tk. 1,200

4 : Rahim invested Tk. 2600 at 4%, 6% and 8% respectively.
Let the three parts be x, y and z.
(x x4 x1)/100 =(y x 6 x 1)/100 = (z x 8 x 1)/100

4x =6y = 8z
2X =3y =4z
Now
2X = 3y
xly = 3/2
X:y=3:2
3y =4z
y/z = 4/3
y:z=4:3

X:y:Z=6:4:3
Sum invested at 4%= Tk. (6 x 2600)/13 = Tk .1200

16) After distributing the chocolates equally among 25 kids, 8 chocolates
remain. Had the number of children been 28, 22 chocolates would have been
left after equally distributing. Find the total number of chocolates?

A : Let M number of the chocolates distributing each student. Therefore,
total number of chocolates is 25M + 8 when it

distributing among 25 children and 28M - 22 when it distributing among 28
children.

Therefore,

28M - 22 =25M + 8

=> 28M - 25M = 8 + 22

=> 3M = 30

=>M=10

Therefore total number of sweets is 25 x 10 + 8 = 258

17) Fathometer is used to measure

1) Rainfall
2) Earthquakes



v 3) Ocean depth
4) Sound intensity

AT+ SR STOIOT AP TF - THCHARTR | QBTGNS - o] 2ARTR/e 19 - JCGIROH |
SR AP TR AT PICHISTP | Sieceo) FIaT [ a4 are KUK G | I 5191
(1P TF - RATOR |

18) In your bookshelf, you have five favorite books. If you decide to arrange
these five books in every possible combination and moved just one book in
every half a minute. How much time it will take you to arrange?

1) 3 hours
v 2) 1 hour

3) 2 hours

4) 30 hours

7T = 55 I3 STSUET T (IS = 51 BT = 120 SN
B 1 I KO 58 15T 1/2 TAE 9B 120 I- SKICO 557 05T 120/2 &G = 60 &G
=1 QT

19) Which of the following country has recently topped the E-Government
Development Survey 20187

vl
2
3
4

Denmark
Australia
Sweden
United States

S~— N N N

AT : » SRGHLTT WAARGT \3 SAIGP [ [Kerst 24t 13 723 W 3-5Tod(Fs
(GTSEANETD PP AT IR | * 05t (S APTRG 55 WJIRN T A5 6T 2T D,
(GIARE, 2. TGN ©. 7T TR, 8. THFATT €. G| » Q ST IRATCTR TREME Y0
TR TS ST |

20) Regional Cooperation Development Headquarter located in

v 1) Tehran
2) Islamabad
3) None
4) Istanbul

AT : CENTO 3 TIefeTp STTResd (331, 9% 3R #11531E) Sraiest Regional
Cooperation Development 5 Y»u8 Stei 3> TR 25w 201 RCD U7 A 7e7 AR
(oA OR/AEG | ff Sabe S ECO -1 ARGBIoRe 27|



21) USB is which type of storage device?

1) Tertiary

v 2) Secondary
3) Primary
4) None

MY : » Secondary memory on a computer is storage for data and programs
not in use at the moment. « USB is a Secondary type of storage device. °
Secondary storage might include - hard disk drives (HDDs), solid-state drives
(SSDs), optical disks, USB flash drives, floppy disks, or other devices.

22) A train starts from city Y at 2 pm and travels towards city X at 75 km/hr.
Another train starts from city X at 1 pm and travels towards Y at 60 km/hr. If
the distance between these two cities is 330km then at what time will they
meet?

v 1) 4:00 pm
2) 5:00 pm
3) 5:30 pm

4) 6:00 pm

SEIRIEG

GaH0 SPM W7 x TF1 #[ faifero 21|
AT G TOFTB 57T = 75(x - 1)
RGRT (A0 WROFTS 719 = 60X
PIHCD

75(x - 1) + 60x = 330

75x - 75 + 60x = 330

135x =330 + 75

135x = 405
x = 405/135
X =3

@40 1PM 13 3 TGT *R fafcTo 201 4 PM @ #7711 fafero 23

23) 100kg of solution A is mixed with 60kg of solution B. If solution A has tin
and copper in the ratio 1 : 4 and solution B has lead and tin in the ratio 3 : 2,
then what is the amount of tin in the new solution?

1) 70 kg

2) 36 kg
v 3) 44 kg



4) 56 kg

AT 2 A 3 Fraicer e 2RI = (100 Q9 1/(1 + 4)} @& = 20 @K
B < faracer focam #1fRa1er =(60 AR 2/(3 + 2)} P& = 24 @K
A 932 B a3 e b focam #if e = (20 + 24)@ & = 44 @&

24) If radius of a circle is increased by 30% then its area is increased by

1) 40%
2) 70%
3) 50%
v 4) 69%

AT : 4K, AL = r . CFAP = ir? 30% 0o I = 130r/100 I CFawe =
nx(130r/100)2 = n(169r2/100) CFaT= I = 1691r2/100 - mr? (169/100 - 1)nr2 =
(69/100)mr2 .. c¥a®e &k 2 = (69nr2 x 100)/(100 x mr?) = 69%

25) In an office, 44% of the workers prefer coffee and 72% prefer tea. If
each of them prefers coffee or tea and 40 like both, the total number of
workers in the office is

A - Out of 100%, 44% drink coffee and 72% drink tea,
Using the formula,

n(A u B) = n(A) + n(B) - n(An B)
= 100 =72 + 44 - n(An B)

= 100 =116 - n(A n B)
=>n(AnB)=16

According to the question,

= 16% = 40

= 1%= 40/16

= 100% = 100 x 40/16

=25x 10

= 250

26) A jar contains a mixture of oil and water in the ratio 22: 3. 50 liters of the
mixture was taken out and 25 liters of water was added to it. If water was



34% in the resultant mixture, what was the initial quantity of the mixture (in
liters) in the jar?

SEUIRIEG

foRCT (e AR = 22x oW

feRaeer onfaR #1fiea = 3x ooR

feRICT 1D 1R = 22x + 3x = 25x

50 IO Rt MR #1f e = 50 x 3/(22 + 3) = 6 PR
PTHCD

3x-6 + 25 =(25x-50 + 25) x (34/100)
3x + 19 = (25x - 25)x (34/100)
3Xx+19=17(x-1)/2

6x + 38 =17x-17

6x-17x=-17 - 38

-11x=-55

XxX=5

ORI 0 AIR&ATT = 25% = 25 x 5 = 125 oR

27) The longest mountain range in the world is

1) The Alps
2) The Rockies
v 3) The Andes
4) The Himalayas

T : ROIR ST ARG BHIET | BOEICHR TR FRAGHAR A1 wrst | 753 #{fQ7 Rroq
(Longest) *RORIGR dTa Qe #RAaaTe 1 7RFT ACHRPT J2ACTT OR)B0 |

28) Which of the following peripheral devices displays information to a user?

1) keyboard
v 2) Monitor

3) BothA &B

4) None

Iy -« Peripheral devices are the external hardware components that are
connected to a modern computer. « There are many types of peripheral



devices that are connected to a typical modern computer. * And among
those components, the monitor is one of the most important components
which is mainly used to get the visual output from the computer.

29) In a two digit number, the digit in the unit's place is two more than the
three times of the digit in ten's place. If the sum of the two digits is 6, the
number is

1) 51
2) 24
v 3) 15
4) 42

4 : let the tens digit be x
ones digit will be 3x + 2

Now,

X+ 3X + 2=6
A4x +2 =6
4x =4

x=1

Hence tens digit will be 1 and ones digit willbe =3 x1+2=5
The number is 15

30) Which one of the following is not a search engine?

A : « RCT I7ET INTS SORED 316 3fé&d 2 - Google, Yahoo, Bing, Ask.com, MSN,
DuckDuckGo, Dogpile o5 « Sord Windows X1 Q310 T B53d | - Iereiv
TS 58 el - Unix, Linux, Macintosh 2eRs | Qrsrd Siquidl 513 $6d (s7) I |

31) What is a portion of a document in which you set certain page formatting
options?

v 1) Section

2) Page

3) Document
4) Page Setup



JMAT : » Section T document A3 Q3o WA, T1 fd® page formatting option =@
G0 PAR CFCA IR0 A | » TPCAGP OlsT BT 1 YDTRG 1 W Section Break T#MTd 7T |
o TP TG S5 B6A (F) T |

32) The difference between the length and the breadth of a blackboard is
8cm. If the breadth is decreased by 4cm and the length increased by 7cm,
the area remains the same. Find the dimensions of the blackboard?

1) 30,22
v 2) 28,20
3) 34,26
4) 56,48

AT : blackboard W7 2% = x G,
blackboard 3™ = x + 8 Gi.fA.
blackboard 43 CFa®e = x(x + 8) I .1,
= x? + 8x If 1.

IO

(X-4)(x +8+7) =x%+ 8x

(X - 4)(x + 15) = x2 + 8x

x2 + 15x - 4x - 60 = x? + 8x
x2-x%+ 11x - 8x = 60

3x =60

x =20

blackboard 13 2% = 20 GL.fA.
blackboard J3tdf = 20 + 8 = 28 GL.IA.

33) Three numbers are added in pairs, the sums so obtained are 20, 27 and
23. What are those three numbers?

1) 6,4 and 15
2) 10,8 and 17
3)9,11and 14

v 4) 8,12 and 15

AT : 8+12=20,
8+15= 23
122=+15=27
Ans: 8,12 and 15



34) From where we can change the name of a User Account?

v
2
3
4

Control Panel
Computer Name
Code Panel
Settings

~— N N S

AT : Control Panel 13 Under the "User Accounts" section 5@ click the
'Change account type option' Z© drd <IfiiGd P1 I |

35) A hall, 20m long and 15m broad, is surrounded by a verandah of uniform
width of 2.5m. The cost of flooring the verandah at Tk. 3.50 per square
meter is

MY ; R s = 20 bR

TR 2% = 15 TR

TR CFaPe = 300 I5TADK
JIRATR XK S = 20 + (2 x 2.5) f0R = 25 fAow
JRMBR XK 28 = 15 + (2 x 2.5) oW = 20 oW
IRTATHR EH AP = 500 IsTAoR

IR CFAPe = (500 - 300) IMATR = 200 I5OR
1 I5TADIR B = 3.5 O

200 I WWB = 3.5 x 200 = 700 TIPT

36) The ratio of the length to the breadth of a rectangular parkis 3: 2, if a
man cycling along the boundary of the park at the speed of 12 km/hr
completes one round in 8 minutes, then what is the area of the park?

v 1) 1,53,600 m?
2) 1,54,000 m?2
3) 30,7400 m?
4) None

SHEURIEG

WRIOIRPI AP ¢l = 3x AR
ARIOIRPR AP 2% = 2x bR

ORGP AP AR = 2(2x + 3x) AR = 10x O



2PIAS
(12 x 1000/3600) x 8 x 60 = 10x

1600 = 10x

x = 160

RGP AMPI CFAPel = 3X X 2X = 6X2 = 6 X (160)2
= 153600 35T

37) Which country is stand on second country in the world according to most
roads?

1) China

v 2) India
3) Afghanistan
4) South Korea

AT : RCT TGP QISTICTSY ARBT TRE A (13 o7 . e SH - TG, » T - ©RO, » OF -5,

38) The rectangular area of the screen that displays a program, data and/ or
information is a

1) Title bar

2) Button

3) Dialog box
v 4) window

4T : » Window - a framed area on a display screen for viewing information.
* Window - A rectangular section of the computer's display in a GUI that
shows the program currently being used. ¢ For example, the browser window
that you are using to view this web page is a window. Windows allows a user
to work with multiple programs or view multiple programs at once.

39) Which country is developing a 750-acre Industrial zone in Bangladesh?

1) Japan

2) India

3) Malaysia
v 4) China

TN : ¢ FISCH Q@0 QT QO b1d TKIH KRS (ORK Sy IR KPR S piG
PECZ| * ACO HICAR CRIF 0% QI TR TR ISR |



40) X can complete a certain work in the same time in which Y and Z
together can do it. If X and Y together can finish it in 10 days and Z alone in
15 days, then Y alone can do it in?

v 1) 60 days
2) 18 days
3) 20 days

4) 25 days

AT = X TSIV FACO A a e

Y Q3% Z IS0 IO MK a T

Z 15 it T00 2 PIAA = 1 WA

Z 1 T 300 & ITH0A = 1/15 TR

Y 1 ftd IR0 I ITSIVL = (1/a) - (1/15) WA
X + Y 1 i 00 M IIS0A = (1/a) + (1/a) - (1/15)
= (15 + 15 - a)/15a

= (30 - a)/15a

PIHCD

(30 - a)/15a =1/10

300 - 10a = 15a

25a = 300

a=12

Y 1 fcd 00 AR PRS0 = (1/12) - (1/15) DM
= (5 - 4)/60 WX

= 1/60 T

Y 1/60 X1 e BACO A1 1 facd

Y 1 R (5799 PT& PACO AR 60/1 e
=60 ™

41) Which of the following is the largest and the deepest ocean of the world?

1) Arctic

2) Atlantic
v 3) Pacific

4) Indian

AT ¢ » 2XTIB FIASISK : - AT J2BH \3 TSRO HIAHSK 2PNS HIAHISK | - 27T FAHT5TLA
OO - YU (@I brq TFF IO | - 5TG STORT - 51 - 8,50 ., T sroikT -
50,520 f. - 13 TSI “ffRRIK SRR o)1 A6 (515 IRIK 7w oo | - 2000 Rienfaor
RT3 )T ATHR TCE RIR $6R-91 2PNI8 TSI TRFS | - TR (1 f7or 3zes
ISR T8 AP TS |



42) An amount of Tk. 10,000 becomes Tk. 20,736 in 2 years. If the rate of
interest is compounded half yearly, what is the annual rate of interest?

1) 25%
2) 20%
v 3) 40%
4) 30%

AT : QA FA4F P = 10,000 BT 5@ @ gerdd C = 20,736 BT AT S 20,736 =
10000{1 + r/(2x 100)}2 * 2

20736/10000 = {(200 + r)/200}*

20736/10000 = (200 + r)4/1600000000

20736 x 1600000000/10000 = (200 + r)*

20736 x 160000 = (200 + r)*

(200 + r)* = 3,317,760,000

(200 + r)* = (240)*

200 + r = 240
r =240 - 200
r=40

43) The difference between the radii of bigger circle and smaller circle is
14cm and the difference between their areas is 1,056cm?2. Radius of the
smaller circle is

SR IR

TIod 064 I x G,

20 J0d I X + 14 G,
IO

n(x + 14)2 - nx? = 1056

n(x? + 2.x.14 + 14?) - tx? = 1056
nx2 + 28xmn + 1961 - nx?= 1056
(22/7)(28x + 196) = 1056

28x + 196 = 1056 x 7/22

28X + 196 =48 x 7

28x =336 - 196

28x = 140




X=5
Trod 061 IY 5 . .

44) Which of the following is used for close a tab on a browser?

1) Ctrl+Y
2) Ctrl + A

v 3) Ctrl + W
)

4) Ctrl + T

T : Ctrl + W = Close tab on a browser
Ctrl + Y = Redo an action previously
Ctrl + A = Select All text

Ctrl + T = Create a hanging indent

45) A boat takes 19 hours to travel downstream from point A to point B and
coming back to a point C midway between A and B. If the speed of the
stream is 4 km/hr and the speed of the boat in still water is 14 km/her, what
is the distance between A and B?

A 2 4R

A T B 93 R19 = x .

B (A3 C 9 {9 = x/2 .1
GAPTDR @I TGP @1 = 14 + 4 = 18 5. HATT
GAPTIDR @ISR ATGPE Q5T = 14 - 4 = 10 F./=0./QD71
2PICD

(x/18) + (x/2)/10 =19

(x/18) + (x/20) = 19

(10x + 9x)/180 = 19

19x/180 = 19

x/180 =1

x =180

46) The difference between two positive numbers is 3 and the sum of their
squares is 369. Then the sum of the numbers is

v1)27



2) 33
3) 20
4) 81

AT : Let the numbers be x and (x + 3) Then, x2 + (x + 3)2=369
=x2 4+ x2 + 9 + 6x=369

= 2x° + 6x - 360=0

= x? + 3x - 180=0

= (x + 15)(x - 12)=0

=Xx=12

So, the numbers are 12 and 15

~. Required sum = (12 + 15) = 27

47) Lubana purchases 20kg of pulses at a rate of Tk. 14.25 per kg and 30kg
of pulses at a rate of Tk. 11.50 per kg. She decided to mix the two and sold
the mixture. To make a profit of 30%, what price per kg should he sell the
mixture?

15.60
14.80
16.38
18.20

1
2
v 3

)
)
)
4)

AT : 20 @I I G FW = (14.25 x 20) T1PT = 285 TIbT

30 (P& G 6 Jo1 = (11.50% 30) TRPT = 345 T1T

(20 + 30)@R& 1 50 & TR GG T = (285 + 345) TIAT = 630 TP

1 P& TIER 7 =630/50 = 12.60 T

30% 1S

1 S TR FT = (12.6 + 12.6 < 30/100) T1FT = 12.6 + 3.78 = 16.38 TIAI

48) Where is "Ground Zero"?

1
2
v 3
4

) Greenwich

) India Point

) New York

) None

JTTAT : m 200D S LTEHANEA fT03aF TRfEG World Trade Center, 261 14 - (915G
\3 (TS RIS THICSTII TE-PTIAT (@] 27T I | m 5T’ World Trade Center - O3
739 TSR SOSIORRCS RS T IR | m SIS Q4 “SITSS &1 and #1fRifo s | oie-srm
AR (ARG 3T \3 WSS [Pt Ta OF FR JGAIT | m 2003 J 'Department
of Homeland Security" toR 3@ |



49) Which is a similar meaning of the word PERPETUAL?

v
2
3
4

Never ending
Perfect
Confused
Seasonal

~— N N S

I : Perpetual - @30 ;
Never ending - &<
Confuse - ST e |
Seasonal - ¥PATSA |

50) AIDS is not a diseases that can be through the air or by
insects.

1) circulated
2) transferred

v 3) transmitted
4) disseminated

MY : Transmit -

To pass a disease from one person or animal to another.

AT (TP 5T TREFFT P I TR D13 Transmitted INTS X1 |
DTS -

Circulate - I8P FHISTG @RI ; Q3P FTd (WL TS FId TFOIR 5AHT T
Transfer - IfcY T ; B 31|

Transmit - 3313 IAT , (ART IAT , TWITG BT

Disseminat - ¥R, TG 30} A6 I, RGIT 7|

51) A large (A) number of automobile (B) part are now (C) made of plastic (D)
instead of steel. Find the error in this sentence.

1
v 2
3
4

number
part
made
instead

S— N N N

AT : YBRT HOITEK TP I 2 Automobile parts. @S I A large number aR1
J2Q TR JATCAT (T | BI3 (B) WPNA part - 93 F parts I



52) Canals are (A) artificial waterways, often constructed (B) either to
transport heavy loads or to (C) delivering water (D) to cities and farms. Find
the error in this sentence.

1) artificial
2) either

v 3) delivering
4) to cities

4N : Either to transport A3 3 fe1 QY Or to deliver 300 I | @€ Either a3
9} Verb Q3 @ 51 AW Or I 2[73 Verb I3 Q33 9 YR | B&-7, Artificial - 2pfod
AN WOIRP - T 99 ;, P | Either T @ @I Qi | - Deliver - B¥ora, «1oy 3onf [y
1, (92 (31 | Canal - 41|

53) Find the correct spelt word -

1) Amatuer
2) Amature
v 3) Amateur
4) Ameteur

I : Amateur - SCOPTRIK T IGTRA |

54) Find the correct spelt word -

v 1) Adulation
2) Adlation
3) Aduletion
4) Addulation

4T = Adulatiion - SfeePIRsT

55) What is the synonym of STALEMATE?

1) Degeneration
v 2) Deadlock

3) Exhaustion

4) Settlement

T : Stalemate - QBENE,
Degeneration - {8104,
Deadlock - b7,
Exhaustion - Q3™, Y,



Settlement - fifs|
S[od1R Stalemate - A3 FH1YSF <R3 - Deadlock, Impasse, Standstill.

56) | shall ring you up as soon as

1) I will arrive
2) | shall be arriving
3) I shall arrive

v 4) | arrive

I = » Future Indefinite Tense + As soon as + Present Indefinite Tense -

3TodTR, fRERR 536 B - | arrive. - Complete sentence: | shall ring you up as
soon as | arrive.

57) Find the correct spelt word -

1) Acquariam
v 2) Aquarium

3) Acquerium

4) Aquarim

YT : Aquarium - FRILK

58) A number of letters that appears little below the normal text is called -

v 1) Subscript
2) Superscript
3) Supertext
4) Toptext

AT : o @A T ORI BT TP AP WA @GR PL, [ oMo e o1
Subscript IE| ¢ TR JIA TWLP AP WA TR IPP B DM RG 2 TP
Superscript =TI

59) Although a kangaroo (A) normally uses (B) its large feet and strong legs
(C) for hopping, (D) but it can also swim.Find the error in this sentence.

1
2
3
v 4

normally

its large feet
for hopping
but it can

S~— N N N



TN : But U@ @ T I AR, BT I AU W S STHSGSo)T T | PRI But
IR SRS AT T TGERK AT I T OR RO I 2 | QU IR AW @ IG5
I T, TR Support 9 Kangaroo I3 SoR P00 KK I I AL | ©13 A3 T
‘but’ I ‘and’ |

60) Find the correct spelt word -

1
2
3

va

Omineous
Ommineous
Omenous
Ominous

~— N N S

YT : OMinous - WP , B |

61) UNBEARABLE

1) Tolerable

2) Acceptable

3) Undefeated
v 4) Unpleasant

14T : Unbearable - &) , W5RAN |, 7853 |

Tolerable - S2AR ; HIAR ; LT S|

Undefeated -°RIMGO |

Unpleasant - @ififoq , afen |

Acceptable - SRS,

Unbearable Q3 54T 3% - unpleasant, Exquisite, Flagrant.

62) It's not easy to change people's toward a certain problem.

1
2
v 3
4

idea
opinion
attitude
thinking

S— N N N

A : ) idea - ©R ; B3, G

) opinion - MBI B[ ARG T a&d RP9Ts7 1 4T, Fo |

51) attitude - ©f , (TS

q) thinking - B3PI , 4R , J=am|

- S{A1R, AR T2 context TG [di31Cd attitude *RIb IS IR Y YT M1 |
- o3 53 TG attitude |



63) ZEALOUS

v
2
3
4

Ardent
Jealous
Jealous
Impatient

~— N N S

NN : Zealous AT SR
Ardent TR -WPe ; TGRS S |
Jealous ERPTOL ; SRR |
Impatient - WY , WL

Wwad Zealous A3 oo - Ardent, Inclined, Quivering.

64) (A) The pineapple, a fruit (B) grow in tropical climates (C) throughout the
world, (D) is native to parts of South America. Find the error in the sentence?

1
v 2
3
4

)
)
) throughout

) is

YT 2 A0S P (B) WA T verb Grow U< Y ‘s’ I AT | PR, pineapple @
fAfE et AN PP 1 2T |

65) Many modern medicines are derived plants and animals.

AT 1 » PR 53T BB %2 - from.

* Derive from Bea/STS 2311

- Complete Sentence: Many modern medicines are derived from plants and
animals.

66) SUSTRG XK 2P \3 AOR @ADL ?

1) Vs + ©

2) vaust + ko
v 3) VOS] + 35

4) I3 T



AT 2 TSRS >0 TRFO P ACRGTS [REIIT 917 | 97 T - T (AP (SSZ ST, TS0,
GO | TSRO A AP \3 2OR- 'VEs] + 36 '

67) T D XT?

1) Gl
2) T3
3) TG
v 4) 2
AT : AT D X | KD T Q@ ¥ ATR AT SIS T X TS T I A Il

R W S1o1d B O A ¥ A | (TH- ST, 38N, IR, T, 20, 5770 Bofi | - a4
= 2P TR (o1 W) -fog *1=til ARGt 3% e A IR0 |

68) T I6dT1 F PRCRA?

AT ; TSI I5T PERCRA- IR I
RTSRTE 5 - TR 393 5A¢q FICA 25T pRORI SrisRd Bd | - (A1 SAI FarT B Ao
IBIGERIGEIREST

69) fAE3 @Td I WD ?

) SN
) SN
)
)

N —

3
v 4

S
SIPIA!



TN & SN IATATD TR |

XN, SEP, FIRAI- fodt3 @m |

o S (o)

- SRFO XA

- 2P AOR = STPT+3A

. 5 @RI

o I = 53 (Reas) a3 BRI ==
o st (Reaga)

- SRFO XA
-WM=H+W+E?{+§(‘

WY . 5 @IRPRT, @ - 5 S|

70) Q@ (T % ST 2 B 2ACOIPIOCD P 27 IA?

AT 2 T @ 2107 ST 2 O ATOTPIOCP A - STATAT 9 |
SR ICPTL Ao |

71) “OgE *=Io7 o 62
1

w

\./\/\Bv
mm%g@

Sl
v 4) 5T

N

AT : IR QDTG WYAP AT WS WA, ST TR0 W= - ‘BT, AT BT G-
(TS CPCE T 23T IR |

2) QIR T MO 5Ra?
1

) T
2) CISTICTSY
v 3) TS B3
4) 73t

AT ; - 'QRAY- 5afD IFTEH 5N DG "PHPIE B3 SHAGK biRa | - @AY, T
W3R TR fage (e F1Ra1 0 T FHRIIE B3 B |



AT = HTORPT'- IAATD &% | S ¥R AN T-I97 9D IR TRIeP -3 Re1q a6 |

74) T IO TS I5IRITA HG 7l 5?

TR : P P WS TSRO HIP WL S GIAT' I3 57 - (OTHR PR CATHTT QTR
ST (W2 T DI WS Gt |

AT = RIRBD REF - 'O KRB P RFF X . (PLANPZI AOIRP I PP
I ORI X AP RATHS ¥ I | TIORI X[ 3R A T RATHS {2 G |

AT 2 AT QPTG WP AT WA TATHIE, DI X7~ 33 | 33 T 0 - AR 5 G|

77) W B I 390 @1 AR T 5130 ?



4)4+9d
AN W B T 39T 2 + F' A ST 515
3+ ¥ = | (T - JPRRTNGAT, JPA, TS 307 |

78) fabd (PTd I S ?

1) PR
2) SR
v 3) S
4) QPR

AT 2 AT - (ROTFy 9m) A, - <RPIAR Sap! A ; AR WOH |

79) ' A1 20" ff GFTd IR SHIRAT?

T : (T ICPT I AP T, TF IR W R 1% 27 O OSR]I 6T |

80) ‘tnfae xIw= 3T A Rovw @1t ?

AT ; R <R 3P % Reoan- ' + 9

TR IR G TR *RFT fd 11 [iFiast acsy SaRsis a @ fies SRt F=eds live.hellobcs.com


https://play.google.com/store/apps/details?id=com.hello_bcs.live_exam
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